=]

H

B

#®

e -

®

2

< 4

P a

bot -

il F3

* B

@ "«

4 #

= @

pd &

% | = s | ®

o g4

% | @& - %

g @

® | ¥ e ]
®

w | ow| m| ®| | o

W | || = o

H| B | x| &| &

54.0n

L L=21.0m n

BT
Wamﬁ_ﬂ BHARXBET  ToyIBMI(N0.5 t=0)
SR (saH17)
=0 g
I
O/ ATt g il 1 T =
— i S v s 1 . [ M -
s aa — g 4 S U T I
S = e
FE P < (cis) <
Ea—— 2ns s
== L . ey ST was
= < = HELE =
> wET < ] o
%&M@;@
L= Zo
A o R e
E - U MBS
E .8 -
7 5! N
Al e 238 I
- = EC 7T (N0 2+9.857) F N[ ] |
s |
g g
2 )
1= ]
Iy 2
i |
_l_l\

THHIRX




4
4@
2
o}
- Bla
= =] ﬁ
=
) |8 =
W |~ 2
2|8 H
::} k| o
I
#* ®
| ® |
| ag| m | | e
| || o)
H|®| & | ®| 4
26°0L1 fov'Le 00§
H
=
E
w
000 0=k 0 i WL 26 °0L1 {26°0LL {OV 2T 00 ¢l ¥ oo ¥l
o - 2
g 8 z
s PSRN w
S 601 0=k /NHQ«@\ £0°1LL P W
g
h
g
S
s )
E e
& =
E
In
w
00004 3 oV Zl B oe It pabe L
N T =5 s 11 811+ W
N 2 N ok
° 00°01+ WL : 0701+ W
2[7000 0=K
T . . . "
200705k 0o EL = 490+ 167000 [OV'6 00 | pge A
=3 =3
g i
E o oE
= S8z
hid T 65 0+ 28°LLL HETHLL HOV 9 00°¢ 79+ Y
o 1500k R or e wL i :
2 ] " w0
s = QO o WL S 98111 L6+ ML'
z 1
s < 601 0=A 601 0 006 BL o S 68 1L 06+ W
w
050 0=k TN 9¢°0 G6°1LL 16S7ILL OV E or'e ver ¥
8 °
] |
“l s o g
p Lo p
w85
Lka 000 {00°2LL {00°2LL 000 fG5y 00 M
000 0=k 000 %L 3
g
2 fooo ooz {foozel fooo  fioo0 -4CaE
=
000 0=A . . . —
e T ET 000 {0021 {00°2LL 000 f€sy | 00 T
- i
< &le
<
g 2 g
w0 | w0 o
T E 96111 - T
o
H
8 101 9 006 ¥T o 06°1L1 06~ ¥T
S| 0T 0=K / 0T 6 B3 68 1L1 16- T
| et 2 29 ¥T
2 09 S
of = | = |=
g i
) S°=
L 058~ ¥ I T 53 wT
2 / f T < 69111 8- T
15000 0=A 00°01- %T I 2% 001~ %
gl g <E | ] T NQ\\ v6 0+ mm E oot Jogor flogor | gog- mer
i ] o
000 0= , - W 157121 0l wT
, g
2
ol
sl o =&
gl s -2
I K
8
o
s TZI 0=k 09~ BT n&lo+ €C°1LL {8071LL {0091 oL's 0°91- ¥
S
<
<
. =
o i
8 83|
305K T 1 67 00712 00§ {1 0012~ %)
a
)
"
Le71LL (0092 00§
=l
g T T T T T T TTeg T TTITgTTTT8
S 2 2 8 001:1 = e Hﬁ_m Hﬁ_m # wﬁm R
- —| - - i ik i
o o
<3 = % | 2| =
R = & L E o i 3




180. 00 G G ) G IR G iIal)
(SGW42) (SGN38) (SGW38) (S6W42)
FARXBET EARBET FAXBET FAXBEET
10.00 1.00 10.00 10.00 2.40 10.00
5.00 5.00 1.00 5.00 5.00 5.00 5.00 5.00 5.00
175. 00 5.00 7 1.50| 3.50 1.80 3.20 3.40 1.60 1.40 3.00 0. 6! § g §
_175. 00| - = > -
s - o TRT s S s s 4 = of 7 d g
g E g |g = g g g sz g ® ® .
— S = S| = i S S| & S| I S|
T 7 T I s L = TlmEL I T T IIF
| 175 __1.45 120, 2.20 1.80 0.6
g ((t=40m) t=dcm g
— S L = Tr“ 2] ]
170.76 > 2
170. 00 'L Rt O#UI 70,07 S| 110 07’:1
g < = 8
| o J
s s sl o T e o s s < sl ol e fle e ° o
s s 3B ] s = 8 8 g IS g8 g g =
| = < sl s P s s < 5| 9 @ || |s N = N
: . ol b . i ﬂ“ # 3 3 ﬂ: [ ﬂ: . . . :
5 5 i o 44 o = = | | ] b s
165. 00
i=1.60% i=8.00% i=8.71%
| 5.00 11.00 5.00 3.40 1.60 12,401 | H=172.00-170. 92=1. 08 5.00
H=171.19-171. 11=0.08 =172./0p-171. 11=0. B9
. 1.40
s g | 5. 70%0. 0809=0. 46 1.400. P871l=0. 122
I 4.40
40+0. 0871=0. 383
1:100
DL=160.00
N o /. N\
2 sy \ 9.0 LEVEL ¥ () LEVEL () LEVEL
5 B ,\_’ﬁ 605 f)—|/r o 55871 S S
R 00”,\‘—‘\\:/ ey 240 \2) \&/
2 3 8 8 8 8 2 3 8
EY&E 2 2 s S s < ? ? <
= - oo o T =9 P S B B = T © o N = < = >
] z 58 2= 3 38 H 8 8 8 2 388 FER] 58 3 B
EiES = = == == = Rr = N N N = = = = =R == = I
= > P Y ) ) ) > = = S =
B 2 8 2 8 8 8 3 2 5 B B
hEEE = = = g o o o = = g g g
8 8 8 1 8 8 8 < < < 2 2
SBANEERE & = E B < < < © i B S
o o @ =3 w o =3 =3 o o IHE THEME
8 8 3 3 8 3 2 8 8 8 8
mREERE d w S ~ < ~ “ « « 2 b HEE | f# B B IR 2
- S © mo @ ~ o ~ B ; - S s = < < #RE
; b kS Zes T9 b ; © 3 < A A A 4 g ¢ = = B _ -
B:l) I=1 T 0 T & + + * + R E E HEES
IS # 1o S 2 " @ S " B | K L " £ "
ol Bl bl HoHH “ = s e - - s - 2% | EBRLBARFLAKLESR
EEEHK b3




-

BRH0(0.0)

D= 3.00
Tk +6.40 T R+22. 40
GH=171.23 GH=170.92
FH=171.82 FH=170.92
“SG\‘&BE;‘* 0 39 3.40
w: ummw MW@y U— b 01.60 _ 1.80
:iou\ l /Dx%y'umm&
~|= = TS
DL=170.00 %/ | ISy 7 DL=170.00
157 0 BRT AR (RC-40) 157 oy BT
[ ®m @ [E=05 | \ﬁ:(a@.&)\mazo”qu [ ® | [E-0s8 | [ (&) [ Bla=0.7]W25 [ & @ |E-12 |
[ ® ' [Fe=- ] [®t@m[slo21|s0w | # g |[Fu=03 | | (E) | Blo= - 4.0 | 8 R | Fu0.3 |
12.7
D= 3.00
Tk +3.40
GH=171.59
70.96
FH=171.36
E
0,30 2.50 T (SGW42)
7 o h— @EED13) t} olas EhstpET 030 2.2
s T i N\
"X—Jfro i8S ‘
HW.L
/S HW.L o
72— (@EEDI3) g =
DL=170. 00 DL=170. 00 @,
/ / DL=170.00 L: < ,
[ " ® [E= - | [®EG® [Bla=0.1]W2s [ & ® |E=05 |
[ ® ® [F= - | [BE@®®K|Blo=1.1]400 [ 8 B | Fu=04 |
T +9.70 T +9.70
GH=170. 97 GH=170.97
FH=171.59 FH=171.59
(saa2)
M\oao 2.38 2.18 020 2.38 2.17
1]
0/62
o e,
WL L e ‘F N\ T\
S |
DL=170.00 i i
BRI~
D= 3.40 D=13.00
T 0.0 Tk +9.40
GH=172.00
FH=172.00
0,20 2.27 2.09 0,20
1.80 1 1.90 (SG1138)
TAXWET 020 240 218
7 > H— (E#EDIY) \_ﬂt oles 187" 090
Ve . Bl %
i -
DL=170. 00 / 1 pL=170.00 N DL=170.00

GH=171. 12 GH=172. 00
FH=171.71 FH=172. 00
(361138)
EATHUL 4 g g 150
‘ ‘ 157" 0y )T
HoWL ! = e 3l g I
T
DL=170.00 | s DL=170.00 DL=170. 00 DL=170.00
EARE RC-40) 157 0y RRT
[m® [e=04] [+ @mm) [ Bla06]wes [ & @ [E=009 |
& r [f=- ] [ ®£@® | Blo=2.1 |40 | # B | Fu=03 |
LD=0 3 L 0.3 L 0.3
EF 0.0
. . GH=172. 00
ik -8.8 Lk -8.8 FH=172. 00
GH=171.08 GH=171.08 0.20 192 1.680.20
FH=171.69 FH=171. 69
1.45 | 1.48
(SaH2) 30 3.00 1.50 020 3.00 1.50
EARGET
. . HW L
WL e s 3 4 DL=170.00 ! e
7%; £ i
DL=170. 00 I i [ DL=170.00
D= D= 3.20
£k~ 10 30 w® -8.2
GH=170. 63 GH=171. 67 o
FH=171.57 FH=171. 96 (sa7)
g};s-@“ssgl 43 EAXBET
U
o 0 300 L s : 020 237 1610 0
(s6i142) 7>7:—\£mm3
EhREET . o5 | 2 o || amavsy—k
L 187 )R 7 i A= = B
HW L 5o - ¢ 2|z HW L B oS - F- A\
o ;V / ~ = M‘ . @ e G
DL=170.00 [ _ | 1 DL=170. 00 DL=170. 00 7 2 H— BRHEDIS) DL=170.00
FARE [RC-40) 157 0y ) RET
[(& ® =- [+ @mE) [B1a=01]w2s [ & @ [E=06 |
D=1.5 D=1.5 D=1.5 I \ Fu= - \ [t @K [ Blo06]aom | 2 B [Fu04 |
[ ®m ® [E=10] [®E@H]Bla10|K25 [ & [E=08 |
| ® ' [FRe02 | [ |Blo-1.7|400 [ 8 B |Fu=03 |
D= 5.70 D= 1.80
GH=171.08 .
FH=171. 23 i
(sa10)
EAAMEL 00 357 158039 039
(saHa2) 3.00 1.50 7 H— (#DIY) govr i P H Eil: EPVDESS
EAREET ‘ 157" )RR g
% oi8 Do o No e
HW L = T wm S 8s | \%h R
2 | \ g S i
DL=170.00 L e/ I ha - DL=170.00 DL=170.00 ' MY DL=170.00
FARE (RC-40) 157 0y RHT ZARE (RC-40) 187 ) RET
[ & @ twes [ & & [ & | | [+ @5 [Blo=0.1]W25 [ & @ |E=08 |
[ & r Jaoan [ 8 B [ & r | [ £ @ | Blo=1.2 |40 | # R | Fu=0.3 |
D= 5.00
L+i%-21.00 L -6.2
GH=171.19 GH=171.36
FH=171.19 FH=171.84
(6138)
BhRBET
1.55
| HW L
DL=170.00 i DL=170. 00 DL=170.00

157 0y ) 8RBT

/‘ D=0.3

I slwes [ R @ [E=09 |
| 3jaom | B B | Fus0.3 |
IWE | FHEBLE
HEE | B B
#A8
R m | 1:100 4
2HE BRIBFRFRAFTES
EEXHK b3




Jovy )i

$=1/50

HARE,
(RC-40)
kiks$4 T (VU 40)
(3-0m2 FEIZTAVAT)

Joy o ER

#Iaoyy
(350m

$=1/20
0
&
_Joo
avsy—+
o ck=18N/mm2
i =
I
B1
THERRUMER (RET) 10ms Y
i+ k3 B
avsy—+ B AEBE
&
B1 H1 H2 o ck=18N/mm2 R RC-40
m3 m2 m2
187 0y) BT (300-450) 450| 300| 150| 1.09 4.50 4.50
iy I

300 |202| 300
HWEEHP-1500° %K) 10ms 4
& L £ # B # =
Ea—L® HP-150 n 10.00
LERE m2 2.02
L3 3 1.82
N 3 1.50

_EHRXHET
G NINBIART ny)) §=1/20
B1=
(S6138) 0.20
BhApEE
A z
EET
S <A BT
~ \\ Y
TSN
0.5<H=1.0 A
~
. X T +0.0~+3.4 0.302LaZ0.10
E I i -0.0~-3.2 0.302LaZ0.10
t AT T +3.4~+9.4 La=0.30
& [ Z
7 v H— (8kD13) 8 hid- £ -3.2~-6.2 La=0.30
B2=Hx0. 5+0/20
[
R®7 )
EhABEET
GAT IR Ry)) §=1/20
i=
(S6W42) 0.30
EhAmEE
_\ =
=BT
< BT
-
. /
2 %X /
1.0<HS1.5 O
< ) /
/
B /
g fmmren/\ /
[ c./
J‘T B2
B2 = i+0. 5+0. 30

BRRIFERIVY-|

_BAABET
(IF5E 7" ny)#) $=1/20
Bi=
(S6H17) 0.20 b
EHRGEE
t wmavo -t
#EI S of
%ﬂ1°g7 5
H=1.0) < N = oSS | %tz
~/ R
A RN
B2=H« \ o
~ =
o
Fh—( e
\
\
\
\
\
A
EE 924
$=1/10

TARAIT7IL g%

100_40

RS

# % R

({7 3 58 B5) S/

3,500

B8R (£=22nm)

| BT @ he-1d) tohen

RS T (RC-40) t=10cm

I®E | FTHEBR

HEE | & &

#AH

R & £ ﬁ&%‘ 5
e#% | KERthBRFRAFIES
EEEHR| =KW




BEE T E M

(TR IF 5 A )

[T EPPDESS 1870y REE
7.30 16.00
(saW17)
EAREET
3.90
3.90 1.60 70 3.00 0.60 2.40 5.00 5.00
g < 8 < g 8 < < <
i 172.00 ¥ ¢ ¥ foE 5 5 §
- 171.95 171.89 17182
171.62 171.56
= / 171.36
A / 171.03 170.92
o = — 3 3| |l
S 5 b= = S o2
| - - =" “E = = E 3
- e I
B
g < 8 <
< 4.00 b 160 % 80 % 3.00 0.60 2.40 5.00 5.00
2 g ¢ g g g
=3 =3 S S S =3
z Iz I z z
5 505 5 5 5
(SGW17) 1 q 1 i i 1
EHRABEET 2 B 8 2 S {
—_— = S P s S S
Z g I Z Z g
s 3 = B d 2
- - - - s s
W Wl W i %
@ 2 @ B B @
° o s ° ° 2
g 2 8 g g 2
¢ 7 2 o = o
T T T ¥
 # | 0.00 D=3.90 = @ | 076 D=0. 00
99-k | 0.00 -k [ 010
= Y
#WEavoU—+ 18570y EEE
+3. 40 +5.00 +6. 40 +6. 40 +9. 40 +10. 00 +12. 40 +17. 40 +22. 40
0.70 1.00
0.21
.39
5 S 5| K s
e e 0.72 \ S|
5 S I N R = = R (RC-40) (RC-40)
2 o I I N o i 2 A EARE EARE
- 0. s A\ 0.72 6=0.43 6=0.23
S0 oA & 0,107 0.62 4
0.59 0.77
= g [ 0.00 D=3.95 B % | 200 B % | 20 D=1.75 FIE 1.95 D=0.00
avpy-t | 0.00 v9)-b | 0.28 avpy-b | 0.93 9yt 1.23
REEE | 000 REEE | 0.2 REEE | 0.5 REEE | 0.77
§
0y
],

O 2.09
-+ 0.38
HEBE 0.22

I®E | FTHEBR

HES | HEIRME(FRIESH)
#AH

R & | 1:50 HEES ‘
e#% | KERthBRFRAFIES
EEEHR| =KW




B IREM
(LR T35 A )

1870y o HiEe wmassu—k
11.00 5 00
(SaH17)
EARKFERET
320
500 070030 150 3.50 1.80 3.20
s FEEIRE 3 S S S
H ERERE 2 g ] g
© — o o @ w o o
E g e ¢ ; i 7
; B
171 5N 171.90 171,96 172.00
171.71 NI
1
171,23 \| N .
o~ 2 Bl © o~
o SN 2 Tl 3 S|
o 8 R g7 = 2 2
of 2 2
5.00 0.700.30  1.50 3.50 1.80 3.20
g g e 2 2
S B < s (SGW17)
I I I I I
5 5| &l 5 5 _ BEhAEERT
=3 =3 Sl £~ o
T /IR T T
5 2 3|5 2 N
S sl ogls S S =3.20
z g gz 3 3
- o o - °
3 g 3ls 2 2
S = e = = 0.20
7 ot Il D D
@ - ] 3 H
o s <ls ° °
H gl s8ls 2 g
e B I s s
5 o ogle ¢ ;
; ; ok
® # | 061] pa20 B 7 | 000
9k | 0.08 9k | 0.00
55
1570y iEHERE Wmavy)—+ i
i
-16.00 -11.00 -10.30 -5.00 -3.20" -3.20
0.81 0.62 0.62
ﬁ
- 2
g
3
049 o
(RC-40) s o B I . | - e -
BARE g = 2 (i Y 2
0,52 -
3 ) 3 [ N i
6=0.57 6=0. 63 6=0.72 0.88 0.53 0.53
D=0.00 W ow | 20 D=1.80 B | 210 W | 210] p320 @ # | 000
S IR k| o8 9k | 083 9k | 0.00
EmEE | 088 E@EE | 0.5 E@BE | 0.5 E@EE | 0.00

I®E | FTHEBR

HES | HEIRME(LRESRE)

#AH

R E 1:50

ﬁ&%‘ 7

e#% | KERthBRFRAFIES

Riti




BT E M
(T & A a)

(S6138) (SGH42)
EARGET EARGRT
9.00 12.70
3 5.00
o 9| o
g g E
£ k s
| 171.03
" 170.92
2
o
3|
170,07 |7
(SGW38)
EHAEET
+0.00 +3. 40 +5. 00 +5.70 +5.70 ° +6. 40 +9. 40 +9.40 " +9.70
0.20 0.2 0.43
"_‘o.z 2 0.2
0 o, 020 | .
rgr = = ) 0
o =171.89 g 2, 171.86 17182 ﬁ 063 -
Q/“’\ = - S o 171.62 o/eme oo s
3 - R s o = o2 Sl 83 - E Bl 3| « NAKAIGER: ARG
S| : h Fyh— - g j S Vg2 -~ | s © ~,7’4—-0200 g 2 5 P l ~ P
4 o g (EREIDI) 2 Nzeh— 7oh— TS S = sl 8 ST 4 -8 7oh— - €] 7oh—
b (B%#5D13) (8#AD13) = A S ~ 4 1o || (8%#D13) = I D13
0.9 Fh— LE_S__ IONERRE S EHBE Fon— sl I ERRE 0.54 0.53 B
@iy (Re=40) (RC-40) [ETHE) a7 TRe-a0)
o.50

= % | 0.00 D=3.00 © % | 104 D=1. 60 = % | 1.50 0=0.70 = % | 1.69 = # [ 1.9 0.40 W # | 216 D=3.00 PR m # | 1.4 0=0.30 = % | 1.38
299+ | 0.00 -k | 016 -k | 0.27 gk | 0.32 h)-b | 0.58 )+ | 0.56 b | 0.3 b | 0.25 wh-b | 0.24
ERRE 0.43

HEBBE 0.43 HEBBE 0.43
AEEE | 0.50 AEEE | 0.50 REEE | 0.50
(Saw42)
ENXEET
+9.70 7 +10. 00 +11. 80 +12. 40 +17. 40 +22. 40
MH n BGﬁ 71 4]‘1) 71. 36!
o ¢ 71.03
2 > & = - o -\ . 1. = 7092
e X E & 3 Y ] g % e o
2 ‘ e . - S \ S
o = + w, w, [
ZRRE 078 ‘ ‘ = ; } I '
RC-40)  off0 —T0 %R?-'fo? o =2sHo c RRBE P EHRE
0.9 RBRE 0.97 BRE 0.95 BRE 0.78 BRE 0.73
1.01 ®C-40)  0[TO 70 (Re-40)  0[T0 0 ®c-40)  o[T0 070 RC-40)  0[T0 —0]0
117 1.15 0.98 0.93
IWE | FHEBLE
@ % | 201 D=0.30 mom | 214 D=1.80 o % | 2.84 D=0. 60 g | 2713 D=5.00 m % | 203 D=5.00 © % | 1.8 D=0.00
avh)-h 0.51 vh)-h 0.56 avhY-h 0.85 2v9Y-+ 0.81 avh)- 0.52 avh)-h 0. 44 HEA | HEIRMR (TR
ERRE 0.98 HEERE 1.01 HBRE 1.17 HBHE 1.15 HBHE 0.98 ERRE 0.93 88
E@EEE 0.98 EEEBE 1.01 HEEE 117 HEEE 1.15 HEEE 0.98 E@EEE 0.93
R | 1:50 m&%‘

e#% | KERthBRFRAFIES

Riti




BT E M
(£ 3 A a)

(SGW42) (SGIN38)
EAXBET EHRXBET
7.20 8.80

-8.50

05

171.23 T
“@lls
| s
o |
(SGW38)
EHhAEET
-8.80 -8.50 "~ -8.50 -6.20 -5.10 " -5.10 -5.00 -3.20 -0.00
2 0,20 0,20 0.20
0.20 0.20 0.20
( 3 0. 0 0
0. 0. o
o, 171.89 ©, 17189 v ©171.90 S 1 =171.96
o/ e 6o oot n - a T Q/? = 2 T[]
ig s 8 S/ o/ @ S 0 2 s J i 8 J b p QT >
™ o w) ~ o @ =4 = — w Foh—
g 7 h— EE 7o 5l & &7 ) = g a2 A Noenm S Ew
L || (B&ED13) is || (#&RiD13) = = TNERRE N 0.54 (8 mD13) R-42
053 053 7oh— /Y0 INBRBE gty RC-40) 053]
®w | (RC-40) .50

# 1.38 D=0. 30 E: 1.38 E: 1.68 D=2.30 B B 1.95 D=1.10 B B 1.72 E: 1.42 D=0.10 E:d 1.40 D=1.80 E:d 0.93 D=3.20 3 0.00

Y-+ 0.24 Y-+ 0.24 ahY-+ 0.37 avy)-h 0.46 ay)-+ 0.48 wh)-t 0.25 as9Y-+ 0.24 -+ 0.14 avhy-t 0.00
RERAE | 061 RERE | 0.43 REBE | 043
RAEEE | 0.68 REEE | 0.50 REEE | 0.50
(SGW42)
ENABEET
-16.00 -11.00 -10.30 -10.00 -8.80 "
m za-‘w> il 51-‘1> 71_57HT 1 69ﬁ
L\ - - - _\¢
° . \> S % @ 5 G 4 s % @ 8 & ¢
= s > s e S e s
w o w, o
o | Il | ] Il
e N s s s 5
. ‘ EBRE 0.79 ‘ ERRE 0.70 ‘ ERRE 079 ‘ EERE 0.78 ‘
®e40 o DU 85U o (RC-40)  0fT0 00 (RC-40)  o[T0  0-]0 (RC-40)  ofT0  0-]0 (RC-40)  o[T0 o]0
1 : 0.99 0.99 0.99 0.98
1.05
IWE | FHEBLE
D=0.00 Bl 2.33 D=5.00 Bl 2.05 =0.70 ERES 2.05 D=0. 30 ERES 2.05 D=1.20 ERES 2.01
19)-+ 0.63 29)-+ 0.53 29Y-+ 0.53 9Y-+ 0.53 Y-+ 0.51 E@s | HETRHE (LRI
RERE | 1.05 RERE | 0.99 RERE | 0.99 REBE | 0.9 AERAE | 098 =AE
HEAEE 1.05 HEEEE 0.99 HEEEE 0.99 E@BEE 0.99 EAEE 0.98
R | 1:50 m&%‘
24% | ERRTHHAFREKIAR
EEEHK b3




o8
s 8 o
i R
Il o o
£ o
s - - 3
X 5 2 s
= =3 = x
> il X =3
g 8 S S
5 7 | S
b d g g
= = = e
3.87
07°¢
0.25012=3. 00 0.87 0Lp=Tv
T 7oh—&mLIY) =13 g otone1 O <
m FHL=505 7 560 2 2=695¢ 0
ecesocoscscsee
2
Y
4
< b=
2
<l -
<
<~ _
— @OJ

i (120816

:
5\ 018 94—
e 05 2= L
=0 Zolser
i g 2\2 gm%ni.w 5 A 019575
e 2\%, 0B
— s T\ o h s
B S
e 5,08 ‘e
- 5. 15
o uwm%u@ =y - = o ¢8R
in N o o
7P 2600 [N H I IRl
2) IRl I 2 2
5,69 < o S
o | X
il ] s
S < s
N
i
o)

(3.04.70.60) x 0. 45

‘ HEES ‘

THEHK
50
LRI RFRAGRLE S
rit

BEIHER(7h—)

IRE
HES
#AR8
£
EERERK




1%

B

TiR+22. 40

GH=170. 92
FH=170.92

H WL
bL=170.00 DL=170.00
D=12.7
E£5-10.30 T +9.70
GH=170. 63
FH=171.57
4.50
HW.L
bL=170.00 DL=170.00 L
i
DL=170.00
0=5.7
£5-16.00
GH=171.08
FH=171.23
4.50
HW.L
bL=170.00 DL=170.00
J 035
EET 3.05 BET 315
J b=1.0
HET 310 BET 3.20
J 0=0.5
+5%-21.00
GH=171.19 o
FH=171.19 #E T
$=1/10
1.55
1. 60
‘ ‘ IBE | THEME
‘ B I (W As-10)t=4 HEs | HEE@ET)
DL=170.00 i DL=170. 00 £ = 7 RELIEEhe 1 e
;r FREHT (RC-40) t=10cn s88
p=0-5 ﬁ R & | 1:100 ﬁ&%‘ i
EET0.00 BET 0.00 2% | KERTHRRBREFAES
I




e
:
H
w
b

(AS 4-10)

TFARAI7ILNGHET

(AS4-10)

I

i

-~
|
2
A
q
K|
L

o
-
<

S1 e THE
G0 '€ TE[ZE

561 of 0iT
8|

e ngml:u— CTEE

T gl (2
e gp o0 e
St
091
THESA
551
TEE

(AS4-10)

AL

=

#RaIVHY—F

BRIV Y-+

THE®BEX

HETIRME

12

ﬂﬁ&%‘

1:50

EERTHRFRAKTES

=RrH

I®%

HE2

#AH

ELE

EEEHK




RETIEMHIFHN

AT 1—LA 0=0.7
K250 N2 A
$=1/50
250
4000
2000 2000 390 sons)
‘ | PP mnsiseT o2 P,
| [F
| | \‘ \‘ « /b EL=170. 366 T
| | N = s 4 z. _0/\ B B 1.36
N g < 2 BN -t | 028
EL=160. 726, el < HERE | 0.72
I 1 = i )
5
_ ] . KEEE | 0.72
187 DL=169. 00 E=1.0 (RC-40) 0.52
B1a=0.2 o 1o
Fu=0.2 100,22
# &% (KF-200) 100ms Y
& El w % I
PEDEEIA KF-250 I 100.00
KTERE 2 18.70
YR - D=4.3
&Iv)Y-+ (KF) t=Tcm
§=1/50 BC.2 &
$=1/50
#7Y1-L#iE&k KF-250 4000
12.40 2000 ) 2000 390 o)
\ ° mnriiser EhaRRT
‘ 0_20
TnEL=170.257 o EINERD
T iy = o - %,
! | w B 3 o P w9-F | 018
< ‘ EL=169 za‘ W L < EWBRE | 0.67
= < EBEE | 0.67
DL=169. 00 E=0.9 i
DL=169.00 Bla=0. 1 (RC-40) 0 ]_,0_47._]0
Fu=0.3 "o 67
| | waLsy—t
\ \
! 1 Jaysi Ehstma
BRavhY-+ (hhn' -bE) t=Tcm \
| $=1/50 | /‘
0=8.3
BOXhMbE 0
3.10 2.30 EC ] E
i S (EC.1~BC.2) $=1/50
*************** $=1/50
e v Y
k) 8| 1 4000
s 5| ]S 4000
8 [ =3 2000 2000 390
0‘4‘»77 J_LL‘Q_H - Jﬂc NO. 144,96 200 175 2000 2000 S EARET
| 1] I vm b "
(SGH38) (S61138) fe1=110.351 ° = # 116
} } } H H ENRBET o, EAABET | |42 \0 B =~ 2 2] & & w90t | 019
N BOXA L /i— ] BOX L /i— b I 52300 EL=170. 305 |\ EL=169. 810, 7 = “p : EWBHE | 0.68
(2600-1000) (2000-800) S . 2 7 S E@EE | 0.68
[l [ 1] [l ~ S e s 8 ‘ 7~ — - 08 sawn /||
1 i i S g - ’ -169. e weao sl
ko Fu=0.3 0. 68
[l [ 1] [l s
I 1] I suos oo
B . 0.65
3;5’1****7*74‘@_{»777%5 o5 oo NO. 1+1.96
o'l\ o To[T Mo 0.85
| | I 0o
[ 1 N D U = o | 100
0,20 2.90 2.30 90k | 038 0-0.8 TRE | THERX
) EBBE | 065 BEE | REIHAHIEEE
BOXAMA KT e
, #88
A S
D=2.1 R ® = m&%‘ 1
242 | KERIBBRAFEAFELS
0.0 BRI =xH




